22FE

TEABRMENE (108~ RED

XYEEHE R
Egg22F6 81 28 (1)
S5 TN\ TP Y —F
=ESS EESS
Br 2 1 =1/ I E]E; 3 — 2 EES
1EE1 15 2 1 )17 ERAER 4 — A =] do il
=T 2 2 L (R=BED) NEE 5 — 0 =R
=H 2 2 B L 5 — O )7
T 3 2 =81 =28 2 — 2 s
TBRE— 5 0 ARTE: BEoEmR 2 — 1 =1mE
BEE— 2 2 KNBE |[R&Ews) | BKEL 3 — 1 T
EES 3 1 =] o] il AR #SS 4 — O 2
205 208
B 3 2 ERIIS EMGEE 4 — O DS
== 3 2 T8 NBE 2 — 2 il (REBED)
TSRE— 2 0 T =26 2 — 2 HmEe
g/HE— 2 2 [BES ke 2 — 1 AR
SESR S . HER %S
Br 2 O =28 SEMAPER 2 — 2 KBE |REBED)
SRE— 2 2 2EEsE— =26 5 — 0 BKE
SRS REs
Br 4 1 SRE— =28 3 — 2  CEMDER




